CASBEEkyoto-NC_2018

CASBEE-#- B2 (¥ 58)20184E iy
() A B B L5 B

A7

W3 A~ =2 CASBEE-F#B-12 (51 5£)20184F
WEFEY T CASBEER#B-#7%2018 (v.1.0)

:liﬁﬁ(:&fﬁitld::x;vﬁak

SEfEEREHEXRS

g5 | ExREAICH o Eyetk-£R8S | R -BENS
EXIER B E THLEIRET IR E R S 5 OBE AN 244
BEEDRE WA 27 |mEsl
% L 3 &%
Q EEpoRERY PX)
Q1 ERBRIEK 0.39 - 3.2
FRiE 3.7 015 | 3.2 1.00 3.4
1.1 EREELANIL 3.0 0.40 3.0 0.40
1.2 BE 4.8 0.40 3.6 0.40
1 |FAODERES R T-2 5.0 093 | 50 | 030
2 |REBEEMEE 3.0 007 | 30 | 030
3 |RRESHEBEEEHER) < 30 | 020
4 |REKRESHE(ESHER) < 30 | 020
1.3 & 3.0 0.20 3.0 0.20
2 RERE 2.4 035 | 2.3 1.00 2.4
2.1 ERHIE 2.7 0.50 2.5 0.50
1 |=R 3.0 0.38 3.0 0.57
2 |9 ERMEEE 2.0 025 | 20 | 043
3 |V R 3.0 0.37 =
2.2 Rl 1.0 0.20 1.0 | 020
2.3 ZHRARK 3.0 0.30 3.0 0.30
3 - 3.0 025 | 38 | 1.00 3.4
3.1 BXFA 3.0 0.31 4.2 0.30
1| B ou# A 2ERER) |BAE=1.25% 3.0 0.58 5.0 0.60
2 |ARRIEEO . .
3 |BrFAEE eou# [BatEnE) 3.0 042 | 30 | 040
32 JLT7R% 3.0 029 | 3.0 i 030
[ 1 [Bxsim ou# |surznm) 30 | 100 [ 30 | 100
3.3 BE 3.0 0.14 3.0 0.15
3.4 HERR%IH ERDOEHEHITHLTHR. VEILETHEA VL RBAFIHNTES 3.0 0.26 5.0 0.25
4 ERHBIE 3.6 025 | 4.2 1.00 3.9
4.1 RERREK 5.0 0.50 5.0 0.63
| 1 |1t'“?—"5ﬁ%%§ Fikk DRFERAL. fvocioLTHiREEN ML RMERA| 50 1.00 5.0 1.00
42 #BR 3.0 0.30 3.0 0.38
1 |#B5= 3.0 0.47 3.0 0.33
2 |BARBRIERE oA [AcEmER) 3.0 006 | 30 | 033
3 [MYANSAR~NDEE 3.0 047 | 30 | 033
43 ERER 1.2 0.20 <
1 [CO,MEE#R 3.0 0.10 <
2 |RRYE ) i) 1.0 0.90 .
Q2 Y—EXMEE - 0.30 - 2.6
1 BERETE 2.5 040 | 22 | 1.00 2.3
1.1 BEREME - LTS 3.0 0.40 2.0 0.60
1 |IRE- IRk 3.0 0.06 1.0 | 050
2 |EEERBERERS 3.0 006 | 30 | 050
3 |/\yFIY—itE [ P50 [pYC:A=E &) 3.0 0.89 =
1.2 DEME-REHE 1.3 0.30 {040
1 |RER-28 oLt [comama)  |[EXHE=25m 3.0 0.07 0.50
2 |YILyPaRR—=X YILyYa AN -AEFE=1% 4.0 0.07 -
3 |NEEE [ J=F -3 [YC:A=E &) 1.0 0.86 0.50
1.3 #FEE 3.0 0.30 <
1 |#FEEICRELEE 3.0 0.50 <
2 |HMiBEEERBEORR 3.0 0.50 c
2 At EEE 3.0 0.30 = 3.0
2.1 MR- RE-HlE - flik 3.0 0.50 =
1 |MEEEYDOCHIIZLE) 3.0 0.80 =
2 | RE-HIE-HIRTEEE 3.0 0.20 =
2.2 B - ERM Dt AE 3.2 0.30 =
1| H O BER oKt |A2EkRER) 3.0 0.20 <
2 |5 B EIFHOBMERERR 3.0 0.20 <
3 |EEREHLTHOEHLERR 3.0 0.10 -
4 |ZEHRBKIILOEHLERER 3.0 0.10 =
5 |ZR-BHKEEDEHUERR EELRREAEO, 288 EICBU EEFERAL. ERTER | 5.0 0.20 S
6 |FERBEHBDOEFLEMRE 2.0 | 0.20 -

4/50



CASBEEkyoto-NC_2018 A7

2.4 58 3.0 0.20
1 |ZER-BRERE 3.0 0.20
2 |#EHEK-BAEEE 3.0 0.20
3 |EXEE 3.0 0.20
4 |HW-BREXEAE 3.0 0.20
5 [EE-1EHREE 3.0 0.20 =
3 Mt - E 3.0 0.30 1.00 2.7
3.1 ERopLY 4.0 0.06 1.8 0.50
[[1 RE0owEY = =35m 40 | 060 [ 1.0 | 060
| 2 |=mMomk -Bams oy |acmimem |EESH®E<03 40 | 040 | 30 | 040
3.2 REDKYLEY 3.0 006 | 3.0 | 050
3.3 RlEOFEHME 3.0 0.87 =
1 |ZERREDEHMN @Kl |A(LEKRER) 3.0 0.20
2 |#RHKEDEHM kYl [A(2EmER) 3.0 0.20
3 |BEREROFHME kYl [A(2EmER) 3.0 0.10
4 |BEEREKROEHFME @Kl |A(LEKRER) 3.0 0.10
5 |SRiE#IFROEHM kYl [A(ZEER) 3.0 0.20
6 I\ ITITAR—ZADHER 3.0 0.20 =

Q3 EHSRE (BUER) - 0.31 = - 2.6
1 EPRIFEQFS LA oLt |A (2EIRER) 1.0 | 0.30 = 1.0
2 FHLH RE~NOER L e A 40 | 040 - | 40
3 W -FA-TANOERE 25 | 030 = 2.5

3.1 M~ DR, BEEOR L oLt |v cmmem 30 | 050
3.2 Bt R RIRE DM £ 0Lt |AEmRER) 2.0 0.50

LR BEEVORBEAREREE

LRl TRJL¥— = 0.40 e 3.8
1 @Y BEOER BPIm=0.86 44 | 019 = 4.4
2 BRIXIILX—FIA ou# [A(2EiER) 3.0 | 010 = 3.0
3 B RTLADOEREL OB [cosEmA) [BEN[BEImI= 073 4.1 0.51 = 4.1
4 ShENER 3.0 0.20 = 3.0

S8 EELS OFFHE 3.0 1.00 =
[RNE=TPZ) 3.0 0.50

4.2 |ERAEEKS 3.0 0.50

S A EEDFHE B

41 |E=8YY

4.2 |EAEEAS - -

LR2 ER-<TTUT7I = 0.30 - 3.3

1 KEREE 3.4 0.20 = 3.4
1.1 &K HAKITALITMA G KEHEBEEERALTLS 4.0 0.40 -
1.2 FKFIA-#EKEQF A 3.0 0.60
1 MAMALRATLEADER | 08K [AEERER) 3.0 0.70
HHEKEMALATLAEADHE 3.0 0.30 -
2 3Fﬁﬂ-ﬁﬁl§®ﬁﬁﬁii‘=ﬂm 3.5 0.60 = 3.5
2.1 HEER R OHIE oxy | 2D 20 | 010
2.2 FEERAREQHEER 30 | 020
2.3 FERMBIZBF DU oL 0ER | exu [5EERD 30 | 020
2.4 BRFHLANISH BT A7 LH O | @k |5 EEIER) [RRIEES—+, oA7a 7 — 40 | 020
25 BEEARERAL DESShAN | omm [BHEERE 30 | 010
2.6 BHOBFATREER EA~OREA | 0k |AEERER) |BARATESI=VMIHMERLTLS 5.0 0.20 =
3 ERMESHHEOME AR 3.0 0.20 = 3.0
31 FEVHEEEFLVHEOER 3.0 0.30 =
3.2 Ay /O O [EE 3.0 0.70
1 EAEH - -
2 |HaFl (M%) 3.0 0.50
3|5t 3.0 0.50 -

LR3 Bhith 5 IR 35% — 0.30 - - 3.1
1 ERRE{E~ DEREE LCCO2=78% 3.8 0.33 = 3.8
2 g MEB~OEK 2.4 0.33 = 24

2.1 ARBEBHLE 3.0 0.25 =
2.2 BRBEELDRE oLt |AEmRER) 2.0 0.50
2.3 mtaz»rﬂv«aaﬁmmﬁu 2.7 0.25
MKHEK B FHER 3.0 0.25
2 5K AL 28 £ 7o 0 3.0 0.25
3 B B 3.0 0.25
BEEYLIE S R 20 | 025 =
3 ;ﬁmuﬁ«mm 3.2 0.33 = 3.2
3.1 BE-iRE-EROML 3.0 0.40 =
1 |BE 3.0 0.50
2 |iRE) . )
3 |BR 3.0 0.50
3.2 AE-WE-BREZT O 3.0 0.40
1 |RE D] 3.0 0.70
2 |REQIF B
3 |AEEMEE QM 3.0 0.30
3.3 :timmﬁu 4.4 0.20
EARBRUERBHEOILMNRASHADHE B RN T4V 1FyPANDIEB OB EEHELTLS| 5.0 0.70
2 BAOEMARIZLIRHFE(TLT)~ORE | @&D |IBUEEANS) 3.0 0.30
REAH O RAKE O: EsRABAIHICRIER BAREX—T—RAM TR KEISES TEbisbiof> THR:ARMID

5/50



